
SAP ABAP table BFKKOPK {Items for accts rec/pay doc (batch input)}

BFKKOPK

TBNAM [CHAR (30)]

BUKRS [CHAR (4)]

HKONT [CHAR (10)]

GSBER [CHAR (4)]

PRCTR [CHAR (10)]

SEGMENT [CHAR (10)]

KOSTL [CHAR (10)]

KDAUF [CHAR (10)]

FDLEV [CHAR (2)]

STRKZ [CHAR (2)]

MWSKZ [CHAR (2)]

TXJCD [CHAR (15)]

AUFNR [CHAR (12)]

VBUND [CHAR (6)]

KONTT [CHAR (2)]

KSCHL [CHAR (4)]

MEINS [UNIT (3)]

MWSZKZ [CHAR (2)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 BFKKOPK-AUFNR = AUFK-AUFNR 
0..N

0..N

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 BFKKOPK-PRCTR = CEPC-PRCTR 
0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 BFKKOPK-KOSTL = CSKS-KOSTL 
0..N

0..N

DD02L

TABNAME [CHAR (30)]

AS4LOCAL [CHAR (1)]

AS4VERS [NUMC (4)]

 BFKKOPK-TBNAM = DD02L-TABNAME 
0..N

0..N

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]

 BFKKOPK-SEGMENT = FAGL_SEGM-SEGMENT 
0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 BFKKOPK-HKONT = SKA1-SAKNR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 BFKKOPK-BUKRS = T001-BUKRS 
0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)] BFKKOPK-MEINS = T006-MSEHI 0..N

0..N

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 BFKKOPK-MWSKZ = T007A-MWSKZ 
0..N0..N  BFKKOPK-MWSZKZ = T007A-MWSKZ 
0..N0..N

T036

MANDT [CLNT (3)]

EBENE [CHAR (2)]

 BFKKOPK-FDLEV = T036-EBENE 

0..N

0..N

T685

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KSCHL [CHAR (4)]

 BFKKOPK-KSCHL = T685-KSCHL 

0..N

0..N

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 BFKKOPK-VBUND = T880-RCOMP 

0..N

0..N

TFK000K

KONTT [CHAR (2)]

 BFKKOPK-KONTT = TFK000K-KONTT 

0..N

0..N

TFK007F

MANDT [CLNT (3)]

LAND [CHAR (3)]

STRKZ [CHAR (2)]

 BFKKOPK-STRKZ = TFK007F-STRKZ 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 BFKKOPK-GSBER = TGSB-GSBER 

0..N

0..N

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 BFKKOPK-TXJCD = TTXJ-TXJCD 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 BFKKOPK-KDAUF = VBUK-VBELN 

0..N

0..N


